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Name:

Solve.

1. A number decreased by 49 is 92. Find the number.

2. A number increased by 81 is 127. Find the number.

3. Forty-two more than a number is 142. What is the number?

4. Ninety-nine more than a number is 144. What is the number?

5. Forty-three less than a number is 98. Find the number.

6. A number diminished by 30 is 70. Find the number.

7. A number diminished by 39 is 72. Find the number.

8. Ninety-three less than a number is 9. Find the number.

9. A number increased by 46 is 137. Find the number.

10. A number increased by 78 is 128. Find the number.
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Name:

Solve.

1. 141 A number decreased by 49 is 92. Find the number.

2. 46 A number increased by 81 is 127. Find the number.

3. 100 Forty-two more than a number is 142. What is the number?

4. 45 Ninety-nine more than a number is 144. What is the number?

5. 141 Forty-three less than a number is 98. Find the number.

6. 100 A number diminished by 30 is 70. Find the number.

7. 111 A number diminished by 39 is 72. Find the number.

8. 102 Ninety-three less than a number is 9. Find the number.

9. 91 A number increased by 46 is 137. Find the number.

10. 50 A number increased by 78 is 128. Find the number.


